Exercise 8-41  (continued -1) 

Note:   the constant term in the solution is a negative number.  This is a good opportunity to explain to the students that a negative intercept term can arise in a High-Low or a regression solution.  The reason why is that the relevant range for the independent variable is too far from the intercept, so that the best-fitting High-Low line or regression line may have a negative intercept.  Chapter 3 included a discussion of the relevant range, with the instruction that predictions of total cost should be limited to levels of the independent variable that fall within the relevant range.   This would be a good time to remind the students of the concept of the relevant range and how it applies to cost estimation.  Wording to this effect is included on p 269 in the text.

 This also reminds us that the value of a, the intercept, should not be generally interpreted as fixed cost, especially when the relevant range of the independent variable is far from the origin.  The value of a is very useful in developing the predicted cost from the cost estimation equation but cannot be used to infer the level of fixed cost.  Note that the text defines a as “a fixed quantity that represents the value of Y when X is zero.”   The illustration below shows the high low line extended to the origin and the negative intercept;  the data below 2,300 hours is outside the relevant range. 
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Negative intercepts also appear in exercises 35 and 36 (not in the solutions but in commentary), and in Problems 50,54,and 56.  
